
murpal;fl;rp/RNal;irf;FO 1 m 1 M
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

2 m 2 M
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

3 m 3 M
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

4 m
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

mfpy ,yq;if jkpo;f; fhq;fpu]; 1 19 3 69 38 25 9 17 0 13 0

,yq;if jkpo; muRf; fl;rp 396 755 78 434 292 121 158 402 35 394 15

<o kf;fs; [dehaff; fl;rp 30 44 3 77 10 2 14 8 0 16 2

[f;fpa Njrpaf; fl;rp 230 498 7 76 41 8 372 133 14 339 9

Njrpa fhq;fpu]; 14 11 0 1 9 0 19 94 2 21 4

jkpou; tpLjiyf; $l;lzp 26 68 8 43 91 11 69 99 11 358 28

=yq;fh Rje;jpuf; fl;rp 7 20 2 19 9 1 112 257 5 96 6

=yq;fh nghJ[d nguKd 27 16 3 9 3 0 37 12 2 25 0

=yq;fh K];ypk; fhq;fpu]; 0 3 0 1 7 0 26 0 0 0 0

nkhj;jk; 731 1434 104 729 500 168 816 1022 69 1262 64

tl;lhuj;jpd; ,yf;fk; kw;Wk; ngau; :- 01 vOj;J}u;  02 rhtw;fl;L 4 gdq;fl;Lf;nfhl;L03 rTj;ghu;

cs;@u; mjpfhu rig :- kd;dhu; efu rig



murpal;fl;rp/RNal;irf;FO 5 m 5 M
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

6 m 6 M 6 ,
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

7 m 7 M
mQ;ry; 

thf;Ffspd; 
vz;zpf;if

mfpy ,yq;if jkpo;f; fhq;fpu]; 22 49 0 15 16 1 3 6 42 0

,yq;if jkpo; muRf; fl;rp 90 129 0 190 222 35 65 284 232 28

<o kf;fs; [dehaff; fl;rp 13 34 0 17 1 0 2 43 89 4

[f;fpa Njrpaf; fl;rp 74 77 0 281 406 361 59 222 198 19

Njrpa fhq;fpu]; 0 4 0 29 20 24 7 23 20 0

jkpou; tpLjiyf; $l;lzp 63 17 0 12 36 0 18 118 151 4

=yq;fh Rje;jpuf; fl;rp 9 23 0 34 80 33 3 106 79 2

=yq;fh nghJ[d nguKd 5 27 0 14 50 2 4 44 115 0

=yq;fh K];ypk; fhq;fpu]; 1 0 0 72 81 87 12 0 1 0

nkhj;jk; 277 360 0 664 912 543 173 846 927 57

cs;@u; mjpfhu rig :- kd;dhu; efu rig

07 gs;spKid06 cg;Gf;Fsk;tl;lhuj;jpd; ,yf;fk; kw;Wk; ngau;:- 05 ngw;wh


